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[Eg TRUCTIONS TO CANDIDATES

=) Write your name and Admission number in the spaces provided above.

b) Sign and write date of examination in the spaces provided above..

<) This paper consists of two sections: Section I and section II

d) Answer all the questions in Section I and only five questions from Section II.

€) All answers and workings must be written on the question paper in the spaces provided
below each question.

f) Show all the steps in your calculations, giving your answers at each stage in the spaces
provided below each question.

g) Marks may be given for correct working even if the answer is wrong.

h) Non programmable silent electronic calculators and K.N.E.C Mathematical tables may
be used, except where stated otherwise.

1) This paper consists of 16 printed pages. ,

j) Candidates should check the questlon paper to ascertain that the pages are prmted as

indicated and that no questions are mxssmg
(
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SECTION I (50 MARKS)

Answer ALL the questions in this Section in the spaces provided.

1. A woman travelled on a Jjourney by walking, by bus and by matatu. She travelled by bus for %5 of the
distance, then by matatu for %/; of the rest of the distance then walked the remaining distance. The
distance travelled by bus was 55km more than the distance walked. Find the total distance. (4 marks)

2. Use the prime factors of 2800 and 2744000 to evaluate, (3 marks)

/2744000

2800

3. Solve the inequalities, 4x -3 <6x - 1<3x+ 10 and state all the intégrél values that satisfy the
: inequalities. . S o (3 marks)
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4. The figure below is a net of a cube with some dots on two faces.

, o B
o o

® o

e o

Given that the number of dots on pairs of opposite faces add up to 6, fill in the appropriate dots in
each of the empty faces. :

(2marks)

3. Peter paid sh 180 for a shirt after getting a discount of 10%,

The shopkeeper made a profit 0f20% on
the sale of this shirt. What percentage profit would the sho

pkeeper have made if no discount was
allowed? : (3 marks)
6. Simplify 23’ +_]9 = -
(%) (3 marks)
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. 7. Elimu Bookshop received US $ 150,000. The money

which buys and sells foreign currency as follows.

was converted into Kenya shillings in a bank

Buying in Ksh Selling in Ksh
1Us$ - 87.55 88.75
1 Sterling Pound 149.75 150.25
a) Calculate the amount in Kshs Elimu bookshop received. | : (2 marks)

b) The business lady converted the money into Sterling pounds to pay fees for her daughter in

London. Caleulate the amount of fees paid to the nearest pound. (2 marks)

8. Factorise and simplify completely.

2my + xy — y* - 2mx

yZ ___4m2
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9. A regular polygon has internal angle of 150° and a side of length 10cm. » - K
a) Find the number of sides of the polygon. : (2 marks)

b) Find the perimeter of the polygon. ‘ (1 rhark)

10. A circle of radius 4.9cm fits exactly inside a square. Find the arca of the space between the circle and
square to 2 decimal places. ' (3 marks)

1. The image of a point Q(1, 2) after a translation is'Q'(-1, 3). What is the co-ordinate of the point R
whose image is R'(-3. -3) after undergoing the same translation. ) (3 marks)
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12 Given that Sin A = /5, Cos B = %,; A and B are acute angles, without using tables calculate =~
- SinBCosA+SinAtanB | o ' - (3 marks)

13. 30 men working for eight hours a day can complete picking tea in ten days. Determine how long it
would take twenty men working twelve hours a day to complete the same task. (3 marks)

14. Use logarithm tables to evaluate to 4 significant figures. = = | 4 'marks)
0.52412 x 83.59 o |

1/0.3563
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1S. A positive two digit number is such that the product of the digit is 20. When the digits are reversed,
- the number so formed is greater than the original number by 9; Find the number. - - - (3 marks)

16. A small cone of height 8cm is cut off from a bigger cone to leave a frustum of height 16cm. If the
volume of the smaller cone is 160cm’, find the volume of the frustum. (3 marks)
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. SECTION II (50 MARKS) o
Answer only FIVE questions from this section in the spaces provided

17. Koech and Otieno contributed sh 600,000 and sh X respectively to start a business. They employed a
manager and agreed to pay him a salary of sh 45000 a month from profits made each year. They also
agreed that 20% of the remaining, profits made each year would be put back into the business. The
remaining profits would be shared between partners in the ratio of their contribution. During the first
year the business made a gross profit of sh 3,650,000. o ;
If the ratio of Koech’s to Otieno’s contribution was 2:3, determine ;

a) How much Koech contributed. | (3 marks)
b) The amount of money put back into the business. (3 marks)
c) How much each partner received at the end of the year. (4 marks)
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18. The table below shows the ages in years of 60 people who attended a workshop.

Age in years

30- 39

40 -49

50-59

60 - 69

70 -79

No. of people

in

v

12

18

17

3

a) State the modal frequency.

b) Calculate the mean age.

¢) Calculate the median age.
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' 19. a) Find the equation of a straight line passmg through the points (3, 2) and 3, 6) glvmg your answer

Yy D . .
mthefonn;"';"iwhereaandbareconstant. | | (4marks)

b) State the co-ordinates of point A and B, at which the line in (a) above crosses the x-axis and y-axis
respectively. (2 marks)

¢) Using the information in (a) and (b) above, find the area of triangle AOB, where O is the origin.
(2 marks)

d) Find the acute angle the line in (a) above makes with the x-axis. =~ =~ - (2 marks)
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20. In the figure below OA = a, OB = b. K and N are mid-points of OB and AB respectively. Point C
divides OA in the ratio 2:5, while D divides AB in the ratio 2:3. R I R

A
, , C . N '
/ / ] \
a) Express in terms a and b.
i)CN (2 marks)
ii) KD (2 marks)

p-and.q are'scalars, find thevalue of pand q. -

. BYIFOX 5 OC+pCNand also OX 0K #-qKD-
_ ' : - {5 marks)

¢) Deduce the ratio in which x divides KD. : - : (1 mark)
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21. The figure below represents a frustum of a solid cone of base radius 48cm.and top radius 16cm. The .
height of the frustum is 21cm. (Take nt = 2/y)

- r=16cm

——R=48cm
Calculate;
a) The height of the solid cone. . (2 marks)
b) The volume of the solid frustum. (3 marks)
¢) The total surface area of frustum. (5 marks)
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" 22. In the figure below, the circle centre O is the circumference of triangle PQR and also the inscribed
circle of triangle ABC. : :

gl Ay,
Q
Given that angle BAC = 62° and anéle ACB = 44°, calculate; ‘
a) ZPQR A (2 marks)
b) ZQPR | (2 marks)
¢) ZPOQ | (2 marks)
d) If BC = 10cm, calculate the radius of the circle. - ' . — (4 marks)
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b) From the scale drawing determine; o ’
i) the distance in kilometres of P from §. (2 marks)

ii) the bearing of P from §, (2 marks)
¢) Calculate the area of the ranch PQRS in square kilometres. (3 marks)
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24. The table below shows values for the function y=5+8x-2x*for-2<x< 6.

X 2 | -1 ] o0 1 2 3 4 | 5 6
8x+5
-2x?
: > V
Complete the table above. ‘ o ' (2 marks)
b) Draw the graph of y = 5 + 8x - 2x? for-2<x<6. e (3 marks)

b
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c) Use the graph to solve the equatmn

1) 5+8x-2x"=0 R * ‘ 7, . ‘ (1 mark)
i)+ 5x+3=0 | R (3 marks)
d) State the equation of the line of syinmetry of the curve y = 5 + 8x - 2x> (1 mark)

. T
B
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